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Interesting facts – discussion 



8% NON-RESIDENTIAL
.

INDUSTRY ALONE CONTRIBUTES TO 1% 

OF ANUAL INCREASE IN ENERGY 

CONSUMPTION

COVID-19 CRISIS CONTRIBUTED ONLY 

1.6% DECLINE IN ENERGY 

CONSUMPTION DUE TO LOWER 

INDUSTRIAL ACTIVITY IN SOME REGIONS

8% CONSTRUCTION INDUSTRY

ECONOMIC GROWTH AND ENERGY 

DEMAND ARE LINKED

32% INDUSTRY (heat is the primary 

problem)

28% TRANSPORT
.

22% RESIDENTIAL

PERCEPTION OF ENERGY



ENERGY IS EVERYWHERE
- Your average apartment requires around 65 MWh of energy to be built

- Your average combustion car requires around 17 MWh of energy to be built

- Your average electric car requires around 47.6 MWh of energy to be built

- Your average toilet paper roll requires around 0.7 kWh of energy to be produced

- Your average bread (1kg) requires around 5 kWh of energy to be produced

- Your average tomatoes (1kg greenhouse) require around 7.5 kWh of energy to be produced

- Your average t-shirt requires 0.4 kWh of energy to be produced

1 Wind turbine 3.5 MW  or 1 Solar panel 300 W

- Your average apartment requires around 18.5h of wind or 24.7 years of solar to be built

- Your average combustion car requires around 5h of wind or 6.5 years of solar to be built

- Your average electric car requires around 13.6h of wind or 18 years of solar to be built

- Your average toilet paper roll requires around 1 second of wind or 2.3h of solar to be produced

- Your average bread (1kg) requires around 5 seconds of wind or 16.6h of solar to be produced

- Your average tomatoes (1kg greenhouse) require around 7.7 seconds of wind or 25h of solar to be produced

- Your average t-shirt requires half a second of wind or 1.3h of solar to be produced



ENERGY IS PREREQUISITE FOR 

DEVELOPMENT
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Charging EV
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your attention


